LERBMBRR

Five Year Group Financial Summary

1998 1999 2000 2001 2002

BEATT HK$ million

BRES Shareholders’ Funds 4,501 5,008 5,666 6,032 6,356
BEN Total Deposits 43,430 44,645 48,236 48,597 50,102
RPEX Advances to customers 31,903 32,331 33,666 35,515 34,417
REE Total Assets 48,445 50,441 54,530 55,062 57,108
REER 25T Profit Attributable to the

Shareholders 503 683 901 779 681
) Dividends 182 250 358 358 534
78 7T HK$
FREF Earnings per share 1.71 2.32 3.07 2.65 2.32
BREE! Dividends per share* 0.62 0.85 1.22 1.22 1.82
BAX Percentage
EFLX Loan to Deposit Ratio 73.5 72.4 69.8 73.1 68.7
BARATRBHL X Capital Adequacy Ratio 14.8 16.0 16.2 16.5 16.5
TORBES L E Average Liquidity Ratio 43.2 45.8 44.3 45.3  42.4
FHEERRE Return on Average Assets 1.05 1.38 1.72 1.42 1.21
FHRRESEHE Return on Average

Shareholders' Funds 11.4 14.4 16.9 13.3 11.0
He:tHEEE - —F  Figures for 2001 were restated due

Z—FZ7HFHETE  tochanges in accounting policy.
He—NNANFZ-Z  Figures for years 1998 to 2000 were
ZEEZHTF AEE  not restated as the amounts were
% BMUEEHE  immaterial.

W o

#BIE-_FE_FHFKR  #Including special dividend of HK$0.66
EEENAN (NN per share for 2002 (1998 to 2001: Nil)
NFE_FT—F : &)
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Cost / Income / Cost to Income Ratio

BEET ARE
HKS$ million Percentage
2,500 50
2,000 40
1,500 30
1,000 20

500 — 10
98 99 00 o1 02
B 7 Cost

= i A Income

S R E U B E Cost to Income Ratio



